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TNorapudmuyeckue HepaBeHCTBA: NMPUMEPbI M AOCTATOYHbIE 3HaHWUSA, HEOOXOANMbIE ANA PELLEeHNs 3aaaHuii

Bapannn Tlocrarounsie snanmst Gopmynet
5>1 [CeoncTeo pasrocunsHocT a>1
logs (Vx+1)>1 & { : norapudmieckix Hepasencts | log,f(x) > b ’
VEt1>5, logaf(x) > b x) > a’.
3>1, |CaolicTao pasHocunbHoCTI a>1,
log; (x+2) <2e {x+2>0, [norapudmmeckix HepaseHcTs logf(x) <b & < fx) >0,
x+2<0. logaf(x) < b f(x) < a’.
T
0<:<l, ICaoiicrao pasHocumbHocTH 0<a<l,
log; (x* 3)>2e {x-3>0, [norapudmieckix HepaseHcTe logf(x) >b & < fx) > 0,
x-3<0. logaf(x) > b S&) < a.
[CeoncTeo pasrocunsrocT
loggs (2x+1) <0 {0 <0.5<1, lnorapnmiseckn vepasencra | log,f(x) < b« { 0 <2<
2+12>1. log,.f(x) < b x) > d.

0<0,1<1,
logy 1 (202~ 3x) <logy; (6x+7) &

2= 3x > 6x+7,

[CeoiicTeo pasHocunsHocTn
[norapudmieckux HepasencTs

log,f(x) < log,g(x)

f)>g), 0<a<1,
logof(x) < log,g(x) & [/(x) >0,

6x+2>0. £(x) >0.

10>1, [CaoiicTso pasHocunbHoCT fx) <g(x),a>1,
le(-2x2+ 5x) < Ig (6:2+ 7) &  —22+ 5y < 6x2+7, orapucminieciar Hepasercs | 0g.f(x) < logag(x) & { [/x) > 0,
6247 >0. log,.f(x) < log, g(x) (1) > 0.





